
A
Crazy 

Calendar
Version 2

An incredible display of  your mental abilities

A student is given several pages that each looks like a calendar.  The student selects one of the calendars and 
then the student selects one of the 30 numbers on it.  The student looks at the column their number is in and 
reads down the column IN ORDER stating the color of each square in that column. They are also told that when 
they read the color of the square their number IS IN they must  “LIE”  and state the incorrect color.  
 

You do not know the card they selected.

You do not ever see the card or the numbers on the card.

They lie about the color of their number

But you detect the truths and lies and tell them their number.



  

5247762165

5441702763

5742732460

163326521

766352541

4653623571

Crazy Calendar A



 

2650114567

2056174361

2355144062

621455123

274356143

325455173

Crazy Calendar B



Crazy Calendar Prediction

1.  Card A and Card B, should be printed in one color and work just like the first set.  The top 3 squares give the 
10ʼs digit and the bottom squares give the 1ʼs digit of the students number.

2.   Card C and Card D, should be printed in a different color then the first   They work the opposite of the first 
set.  The top 3 squares give the 1ʼs digit and the bottom squares give the 10ʼs digit  of the students number.

This allows you to hand out 4 cards 2 of each color.  One set has the top squares give the 10ʼs digit and the other 
color works the opposite.  Just before you do the trick note which set is which.  As the students select a calendar 
note the color and find their number.  If they try to compare cards it will be harder to see a pattern as the cards are 
not all the same pattern.  

How to find their number on card A and B .  

The student will look at the column their number is in.  They will call out the colors of the top 3 squares of the 
column in order (including the lie if there is one), either white or gray.  If we let white =0 and gray = 1 then they will 
actually call out 3 binary numbers.   The first one is put in the 1ʼs place, the second one is placed in the 2ʼs place 
and the third one is placed in the 4;s place.  Convert this binary number to base 10 and this will provide the 10ʼs 
digit of their number

They will call out the colors of the bottom 3 squares of the column in order (They will call out the colors of the 
top 3 squares of the column in order (The first one is put in the 1ʼs place, the second one is placed in the 2ʼs 
place and the third one is placed in the 4;s place.  Convert this binary number to base 10 and this will provide 
the 1ʼs digit of their number

This will give you the number they chose.

Example   They select 65 from a column on the card.

1  in 4ʼs place      1     0    1      the digit in the 1ʼs place is 5Gray = 121

Their number is 65

 0  in 2ʼs place    _     0    1        

1  in 1ʼs place     _     _    1   

1  in 4ʼs place     1    1    0          the digit in the 10ʼs place is 6

1  in 2ʼs place    _     1    0     

0  in 1ʼs place    _     _    0   

The first 3 binary values in the column determine the 10ʼs digit of their number
The last 3 binary values in the column determine the 1ʼs digit  of their number

White = 0
  Gray = 1

They sayThey select 
   65

The last 3 binary values in the column determine the 1ʼs digit

The first 3 binary values in the column determine the 10ʼs digit

Gray =165 (lie)

White = 0

Gray = 1

Gray =1

White = 0

27

24

5

6



Print Card C  and Card D on a different color then the first 2 cards.  ones tens 

 

64

327612513

524714573

6257317543

1643356157

1045336751

13463052

Crazy Calendar C



 

17

3261255671

521453611

623175621

7625611235

7023671433

73206430

Crazy Calendar D     



How to find their number on card C and D.  

The student will look at the column their number is in.  They will call out the colors of the top 3 squares of the 
column in order (including the lie if there is one), either white or gray.  If we let white =0 and gray = 1 then they will 
actually call out 3 binary numbers.   The first one is put in the 1ʼs place, the second one is placed in the 2ʼs place 
and the third one is placed in the 4;s place.  Convert this binary number to base 10 and this will provide the 
1ʼs digit of their number

They will call out the colors of the bottom 3 squares of the column in order (They will call out the colors of the 
top 3 squares of the column in order (The first one is put in the 1ʼs place, the second one is placed in the 2ʼs 
place and the third one is placed in the 4;s place.  Convert this binary number to base 10 and this will provide 
the 10ʼs digit of their number

This will give you the number they chose.

Example   They select 65 from a column on the card.

Card C

1  in 4ʼs place      1     0    1      the digit in the 10ʼs place is 5Gray = 113

Their number is 57

 0  in 2ʼs place    _     0    1        

1  in 1ʼs place     _     _    1   

1  in 4ʼs place     1    1    1          the digit in the 1ʼs place is 7

1  in 2ʼs place    _     1    1     

1  in 1ʼs place    _     _    1   

The first 3 binary values in the column determine the 1ʼs digit of their number
The last 3 binary values in the column determine the 10ʼs digit  of their number

White = 0
  Gray = 1

They sayThey select 
   57

The last 3 binary values in the column determine the 10ʼs digit

The first 3 binary values in the column determine the 1ʼs digit

Gray =157 (lie)

White = 0

Gray = 1

Gray =1

Gray =1

73

43

51

52



Binary number         __0__   __0__   __1__      0 0 1 base 2     converts to     0 + 0 + 1  =  1 base 10
Base 10 value              4             2            1

Binary number         __0__   __1__   __0__      0 1 0 base 2     converts to     0 + 2 + 0  =  2 base 10
Base 10 value              4             2            1

Binary number         __0__   __1__   __1__     0 1 1 base 2   converts to    0 + 2 + 1  =  3  base 10
Base 10 value              4            2           1

Binary number         __1__   __0__   __0__      1 0 0 base 2     converts to     4 + 0 + 0  =  4 base 10
Base 10 value              4             2            1

Binary number         __1__   __0__   __1__     1 0 1 base 2   converts to    4 + 0 + 1  =  5 base 10
Base 10 value              4            2           1

Binary number         __1__   __1__   __0__     1 1 0 base 2   converts to    4 + 2 + 0  =  6 base 10
Base 10 value              4            2           1

Binary number         __1__   __1__   __1__     1 1 1 base 2   converts to    4 + 2 + 1  =  7 base 10
Base 10 value              4            2           1


